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1.

Determine the values of the mesh currents, i; and 1, for the circuit shown in Figure 1. (20%)
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2. For the circuit of Figure 2, specify the value of the resistance Ry that will cause current iy to be -2A.
(20%)
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3. Find V, for the circuit shown in Figure 3. Assume an ideal operational amplifier. (20%)
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4. Find the steady-state voltage Vj for the circuit of Figure 4. (20%)
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5 Consider the circuit shown in Figure 5. The input to the circuit is the voltage of the voltage source, 24V,

-0.35¢

The output of this circuit, the voltage across the 6 () resistor, 1s given by Yo(t)=12-6¢ V when

>0. Determine the values of the inductance, L, and of the resistances, Ry and R;. (20%)
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